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6.1 � = 
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	��: �,�,�,�                            7 �.

6.2   1 � �!�":   (
����� � 	 �	�
� � � �): PX  = 24
�; XY = 3 
�; YK   = 29 
�

         2 � �!�": ( 
����� � 	 �	�
� � � � ): PY  = 21 
�; YX   = 3 
�; XK  = 32 
�;  

YK  = 35 
�;                                                                                                                    7 �.

6.3 .V = 2,5 �³ = 2500000 ��³ ; h = 10� = 1000��; �� ��	
��� V=B.h, B=2500��²; ��
	
�� 
��
� B= 5.5 = 25��²; 100 
��
�;                                                                        7 �.ma
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�
� � � ��): cooPXPX  = 24

	 �	�
��	�
� �� �� �� ): cP
                                               

,5 ,5 ��³ = 250000³ = 250
B= 5.5 B=


